s F 7

14

Ll 45,201 8. 8¢

W:\Traffic Signals\Standards\TSD's\2015 TSDs\DGN files\TSDl3.rev.

STEEL POLE MOUNT FOR:

TYPE 3 SIGNAL CABINET OR
FLASHER CONTROLLER CABINET

2/16/2015

PCOLE CLAMP SHALL BE

SIZED TO FIT POLE AND
SHALL BE ATTACHED TO

BACK OF CABINET
WITHOUT INTERFERING

WITH CABINET PANELS. | T
% 7 ii%

NOTES:

PULLING

PROVIDE SOLID BAR SPACERS AS

L
o a/

NECESSARY TO PLUMB CABINET.
_ /////r__
o el

| I

|

| I
| I
l I
I I}
| I
| I
| I
| I
|

I J

> ) T~——PULLING "ELL”

STEEL POLE WOOD POLE
DETAILS DETAILS

6 4

Io %%E%é 4\\\\\\\\\__J ,
‘\\\\\\\\\\

1
1" PULLING "ELL”

SERVICE SHALL BE LOCATED
ON SAME WOGCD POLE THAT
THE CONTROLLER IS
MOUNTED ON.

SIGNAL CIRCUIT CONDUIT
SHALL BE SIZED AS REQUIRED
BY SIGNAL CIRCUITS.

SINGLE CONDUIT SHALL BE
USED AND ATTACHED TO
CABINET USING STANDARD

HUB AND OPENING PROVIDED
ON CABINET.

FROM GROUND FOR TYPE 3
CABINETS.

APPROXIMATELY 4’ FROM GROUND FOR
FLASHER CONTROLLER CABINET.

CONDUIT SHALL BE

INSTALLED AS SHOWN.

H

LB

1.  WIRE ENTRY INTO CABINET FROM STEEL POLE SHALL BE THROUGH BOSSES PROVIDED ON POLE.

ELLS SHALL BE USED FOR SIGNAL CIRCUIT AND SERVICE CONDUIT. -HUB
ATTACHMENT ON BOTTOM OF CABINET SHALL BE USED FOR SIGNAL CIRCUIT CONDUIT. STANDARD
TYPE CONTROLLER CABINET HUB SHALL BE INSTALLED ON CABINET FOR SERVICE ENTRANCE.

2. ALL SERVICE DISCONNECTS SHALL BE LOCATED ON THE CLOSEST WOOD PLOE AVAILABLE FOR
SERVICE.

3. TOP AND BOTTOM OF CABINET SHALL BE ATTACHED TO WOOD POLES USING BRACKETS MOUNTED
WITH CONDUIT HUBS, STANDARD BRACKET, AND ATTACHED TO POLE WITH '4" X 4" HDG LAG

SCREWS.

4. CONDUIT FOR SIGNAL CIRCUIT SHALL BE SIZED AS REQUIRED. MIN.

2" AND MAX. 3”.

5. TYPE 3 CABINETS: A 3" X 5’ X 4” CONCRETE PAD SHALL BE POURED NEXT TO THE

CONTROLLER CABINET POLE AND SHALL BE ABOVE GROUND LEVEL.

TYPICAL CONTROLLER FOUNDATION

FOR TYPE 5, 6+ AND 7 CABINETS (SEE LADOTD TCS# 18)

TOP VIEW

1" CHAMFER
| T

SPARE 3”7
CONDUIT. TURN
UP INTO NEAREST
JUNCTION BOX.

CONDUIT SHOWN
IN PLANS

TOP VIEW

2" CONDUIT FOR SERVICE

54" x 8’ GROUND ROD
i &

Y

ol
il
357

s B
48”

ANCHOR BOLT 5/8”" X 18"

124

\

\QS§§§(EACH CORNER)

IS NN\

\

O
' —~—SERVICE CONDUIT MAY
BE INSTALLED IN THIS

SIDE VIEW (B-B)

4/:’4”

AREA AS APPROVED BY
PROJECT ENGINEER.

ANCHOR BOLT 5/8" X 18"

SIGNAL CIRCUIT, DETECTOR., AND
INTERCONNECT CABLE

. #6
BARE ANCHOR BOLT 5/8” X 18"
COPPER
SUB-BASE s
o DUCT SEALBETWEEN
1" CHAMFER ea\\>/ f =y — CABINET AND BASE
. Y% o | [ ] 5 §
| e o §%§§7TE
stanoarsl Y L 1w 1] |l 4 | #
RADIUS ELBOW‘““““ﬁE:jH\f;V /ol I S
= : .
] OA o/ // ol] A ™
HULE -4 V. .
UNDERGROUND —/ srounn ol I Lm
CONDULT 5/8" X 8* CLASS A CONCRETE
WHEN CONNECTING A.PVC 90/ TO HDPE CONDUIT,
USE AN E-LOCK COUPLING.

SHEET
NUMBER

™\ ™

AN

NOTE:

wWOoOD POLE MOUNTED

FLASHER

CONTROLLER SWITCH

(6ls" x 127 x 186")

USED FOR FLASHING HAZARD BEACONS AND
CONTINUOUS FLASHING SIGNS. THIS ITEM SHALL
BE INCLUSIVE WITH ELECTRICAL SERVICE.

1 CONDUIT J/////{Iil

TO SIGNAL HEADS | e
L]

CENTER OF METER |

6’ ABOVE GROUND

1" CONDUIT CLOSE
NIPPLE

DOUBLE HUB WITH
ATTACHMENT TO
POLE AS NOTED
BELOW FOR CABINETS

FLASHER SWITCH——//%

RAINPROOF BREAKER
//////,,__ SQUARE “D”
| Q 02 — 4 ARB
15 AMP BREAKER

————— PADLOCK: MASTER #8,
BRASS KEY P-656

CABINET

NOTE: ALL E
TO PO

Moo ctliar o o

QUIPMENT SHALL BE ATTACHED
LE WITH HDG LAG SCREWS.

METER FURNISHED BY POWER
COMPANY WHERE REQUIRED.

NOTES: |
1. ALL GROUND MOUNTED CONTROLLERS SHALL HAVE A SPARE 3” CONDUIT RAN 24" BELOW GRADE TO JUNCTION BOX.
2. ALL EXPOSED CONCRETE EDGES SHALL HAVE A 17 CHAMFER.
3. ALL CONDUIT. GROUND ROD AND ANCHOR BOLTS SHALL PROTRUDE 2 3/4 “ MIN. — 3” MAX. ABOVE FINISHED FOUNDATION.
4. FOUNDATION SHALL BE ORIENTED SO THAT THE DOOR IS FACING AWAY FROM TRAFFIC.
5. A #6 BARE SOLID COPPER WIRE SHALL BE REQUIRED TO CONNECT BETWEEN GROUND ROD AND GROUND LUG ON PANEL.
ALTERNATE STEP CONTROLLER FOUNDATION iy
5 vl | T
Z ||B8allTa
FOR TYPE 6E CABINETS (SEE LADOTD TCS# 18) = || 2el5E
' Y ']
if |
a g |le«
Eolle N8 T
TOP VIEW TOP VIEW S E[S 2lle 8
O ollw <|| =
= J||= =g X
2” CONDUIT FOR SERVICE G Sl
" ~AgyAMCCD. 0 T T T— T — "\ — T | ______________ a o a fa)
1" CHAMFER | | | ) ) | 5 %z %||w s
| GROUND ROD 5/8” X 8" | 8 8 | i | R e
l i 27 0O Cllo Of|lla »
B K F{ANCHOR BOLT 5/8" X 18 il | Nl e’
- N (EACH CORNER)
3.'/——- \Q o>
SPARE 3" *1 % | @
CONDUIT. TURN g e o i ) = s O q s
UP INTO NEAREST  —|— — —{_ - Sl \ O \QQSE\ °
JUNCTION BOX. \ ¢
| \\\ Q\ \Qiiib\ —~SERVICE CONDUIT MAY
BE INSTALLED IN THIS
?ﬁ“gﬂigSSHUWN & ' AREA AS APPROVED BY
| | | ol | PROJECT ENGINEER.
| | | ANCHOR BOLT 5/8“ X 18"
| | | SIGNAL CIRCUIT. DETECTOR. AND
| | | INTERCONNECT CABLE z
| | | | 3
______ —s5 -, . = F L am TELRT 2
)
=
g =
48” g
1 | &
SIDE VIEW (B-B)
H6 ANCHOR BOLT 578" X 18”7
BARE
COPPER \
SUB-BASE e |
| DUCT SEAL INSTALLED
q CHAMFER'—w\\y i = _~— BETWEEN CABINET AND BASE.
=TT I I =
I I Bl &
TR AN I
14 1 Il L& | CLASS A CONCRETE p
24" |1 |
A ”
Y < |1l - 30
§§ISTHM3§QIH\G\ | : } :: .
'\ \v// A <
AR 49 I
AT ANGANN A i
UNDERGROUND ™\ \ *
CONDUITS I W %ET\\\\\\ &
STANDARD GROUND ROD
RADIUS ELBOW S’ x 8

WHEN CONNECTING A PVC S0 TO HDPE CONDUITs

USE AN E-LOCK COUPLING. (NOTES FROM CONTROLLER FOUNDATION APPLY)

W,
NWOF Loy

W OU %y,
Sl 2
S *Z
S LEIQ WANG = E
= License No. 33365 =
2\, §
Do\ S

5o, AR
4ﬁdﬁ¥ﬁ$h““vpﬁ

_ 0!
Qf\q

CONTROLLER MOUNTING AND
FOUNDATION DETAILS
TEE=1-3

TRAFFIC
ENGINEERING

N ey v ———r— R Attt






